RESOLUTION NO. 34 - 08**CITY OF CENTERVILLE, OHIO**

| | COUNCILMEMBER | Doug | Cline | ON THE _ | 18th |
|------------|----------------|--------------|-------|----------|------|
| DAY OF Que | <u>ust, 20</u> | 08. <i>U</i> | | | |
| DATON | <u></u> ,20 | 00. | | | |

A RESOLUTION ACCEPTING THE BID SUBMITTED BY ROCK RIVER CONSTRUCTION, LTD., FOR THE FOREST BROOK BOULEVARD CULVERT **REPLACEMENT (PROJECT SS-6B-08) AND** AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for Forest Brook Boulevard Culvert Replacement (Project SS-6B-08) according to specifications prepared by the City, and

WHEREAS, Rock River Construction, Ltd., of Lancaster Ohio, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY **RESOLVES**:

Section 1. That the bid submitted by Rock River Construction, Ltd., for the Forest Brook Boulevard Culvert Replacement Project, marked as Exhibit "A," attached hereto and made a part hereof, is hereby accepted in the amount of \$104,919.00 and that the City Manager is hereby authorized and directed to do everything necessary to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to expend up to 10% of the contract amount or an additional \$10,490.00 for unknown and contingency items in accordance with unit prices quoted in the bid submitted by Rock River Construction, Ltd.

PASSED this 18th day of <u>August</u>, 2008.

<u>C Mal Kinesed</u> Mayor of the City of Centerville, Ohio

| assistar | ATTEST: <u>Julia ton. Weaver</u> Clerk of Council, City of Centerville, Ohio |
|----------|---|
| | CERTIFICATE |
| | The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number $34-08$ passed by the Council of the City of Centerville, Ohio on the 18^{44} day of 208 . |
| | assistant Clerk of Council |
| | Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions. Department of Law Scott A. Liberman |

Municipal Attorney

*

k

The second second second ANT + 11 *** dente 1 1997 -1 generation in 3 Cathorne 3 2.1 a second se

EXHIBIT "A"

| | | UNIT PRICE SHEET | | 1 | | · · · · |
|----------------|--------------------|---|----------------|---------|------------|-----------------|
| | | 1E: Forest Brook Boulevard Culvert Replacement | | | | NUMBER: SS-6B-0 |
| HE CI IAY B | TY OF C E REFEI | ENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE P. ENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED | ART OF THI | S PROPO | SAL AND | |
| UPY (| JF PROP | ERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS | | | | <u> </u> |
| REF NUM | SPEC NUM | DESCRIPTION | EST'D OUANT | UNITS | UNIT PRICE | AMOUNT BID |
| 1 | 201 | Clearing and Grubbing, As Per Plan | 1 | LS | 23.00.00 | 2300,00 |
| 2A | 202 | Curb Removed | 97 | LF | 10.00 | 970,00 |
| 2B | 202 | Walk Removed | 248 | SF | 2.00 | 496,00 |
| 2C | 202 | Pavement Removed | 100 | SY | 4.00 | 400.00 |
| 2D | 202 | Guardrail Removed | 80 | LF | 2,00 | 160.00 |
| 2E | 202 | Structure Removed, As Per Plan | 1 | LS | 12,000.00 | 1 |
| 3 | 204 | Subgrade Compaction, As Per Plan | 100 | SY | 2.00 | 200.00 |
| 4 | 207 | Erosion Control, As Per Plan | 1 | LS | 2500.°° | 2500.55 |
| 5 | 301 | 7" Asphalt Concrete Base | 20 | СҮ | 180.00 | 3600.00 |
| 6 | 304 | 5" Aggregate Base, As Per Plan | 17 | СҮ | 70.00 | 1190.00 |
| 7 | 448 | 2" Asphalt Concrete Surface Course, Type 1, PG64-22 | 6 | CY | 200,00 | 1200.00 |
| 8 | S03 | Unclassified Excavation | 1 | LS | 2500." | |
| 9A | 601 | Rock Channel Protection, Type A without Filter, As Per Plan | 64 | CY | 95,00 | 6080.00 |
| 9B | 601 | 6" Concrete Channel, As Per Plan | 25 | SY | 1D.** | 250." |
| 10 | 602 | Concrete Masonry | 56 | CY | 359.00 | 20,104.00 |
| 11A | 603 | 4" Conduit, Type F, 707.33 | 54 | LF | 5,00 | 270.00 |
| IIВ | 603 | 12" Conduit, Type B, 707.33 | 22 | LF | 10.00 | 220.00 |
| пс | 603 | 96" Conduit, Type A, Cless II, 706.02 | 56 | LF | 750.°° | 42,000.00 |
| 12 | 604 | City of Centerville Type D Catch Basin | 1 | EACH | 1000.00 | 1000,00 |
| 13 | 606 | Wooden Guardrail, As Per Plan | 64 | LF | 12.00 | 1768.0" |
| 14 | 607 | Fence Misc.: Wooden Handrail | 50 | LF | 10.00 | 500,00 |
| 15 | 608 | 4" Concrete Sidewalk | 248 | SF | 5.02. | 1240.00 |
| 16A | 609 | Type 6 Barrier Curb, In-Kind | 59 | LF | 12.00 | 708.00 |
| 16B | 609 | Combination Curb and Gutter, In-Kind | 20 | LF | 20.00 | 400.00 |
| 17 | 614 | Maintaining Traffic, As Per Plan | I | LS | 3000." | 3000,00 |
| 18 | 659 | Seeding and Mulching, As Per Plan | 350 | SY | 1.00 | 350.00 |
| 19 | 670 | Slope Erosion Control Protection Mat Type G | 108 | SY | 4.75 | 513.00 |
| | | | GRAND T | OTAL | | 104919 |
| | | 30 | 1 | | | 104, 919 |

| EXECUTION OF | PROPOSAL | | | | |
|--------------------|--|----------------|--------|------------|---------|
| NOTE: Failure to | sign the proposal shall result in rejection of the bid. | | 5 | _ | |
| | | | į. | _ | |
| THIS PROPOSA | LSUBMITTED BY: ROCK Rover Construction | | | | |
| | NAME OF CONTRACTOR | | | | |
| SIGNATURE: | Ryan Das | 2 | DA | TE: 8 - 1. | 2-08 |
| Contact person fo | r contract processing: Richard Boppoth | | | | Alda di |
| Mailing address if | f different from above: | | | | |
| | | | | | |
| CONTRACT PRI | EPARATION INFORMATION | | | | |
| The bidder shall s | upplement the proposal by supplying the following information for use in the preparati | ion of the Cor | tract. | | |
| COMPANY: | Rock Rover Construction (JD | | | | |
| BY: | Ryan Davis | | | | 2 |
| TITLE: | menuber | | | | |
| ADDRESS: | 541 Mill Park Drive Suite C lan | Coster | Onic | 5 43 | 130 |
| PHONE | 746- 654-3503 | | | | |
| FAX: | 740 - 654 - 3573 | | | | |
| EMAIL: | Rock River OG @ aol. Con | | | | |
| FEDERAL TAX | | | | | |